NIYXIN TAYN

#define name replacement-text
#define Area(r) Pi*r*r ANy
x=Area(s+1);
Xx=Area(s++);
double sqgrarg;
#define SQR(a) (sgrarg=(a),sqrarg*sqrarg)
SQR(1.)*"SQR(2.) => 1. Numerical
#define SQR(a) \ Recipes
((sqrarg=(a)) == 0.0 ? 0.0 : sqrarg*sqrarg)



int printf(char* format, ...);
i al7galvkisiela

a=Pi;
_ (22717 5912) *Hnn TN
printf("Result = %-12.5e\n"aj;

conversion character 7100 NIX

Ly



Formatted Input/Output
NNV V79/077

N1TNI™ NMNIX

\N
\t
\\

\”
% %

newline
tab
\

%

N 1NN NIPTNIX

d,i
f
e E

It
-lm.ddd
-lm.ddd e/E xxx

0,6 %f, or %e/E



double a=Pi;

printf("Result = %-12.5e\n",a);
printf("Result = %12.5E\n",a);
printf("Result = %-10.10f\n",a);




int scanf(char® format, ...);

double a,b;

printf(“%lg %lg”,&a,&b);

aRshbintalrlabipalizzal ol

conversion character S0 NI



VP2 MW MMNW/Q° AN 7Y 3970
NNN NIPNIX

int ij; d,i int
scanf("%i %i",&i,&j);

printf("%i %i\n",ij); e,f,_g float
I, i long
lelf,lg  double

45 76 4 134514033

45 76




Pointers ‘n'yraxn

Int 1; ‘NINYN INTAN

&i; :0D'2NOoN |IND'TA NAIMDN NX
int *point; :NINYN IN2 NAINDN DX MW7 N°
point=&i;

int * DTV D' TAN INt-7 y'axyn XInw nanwn

.0IN1IAINN 7Y NAIMON DX N'TNn & N71V9N

17w (referencing) n'™on nx17 &i n71v9n

NX |Nv ,* NN (de-referencing ,nyaxn) 19NN
I="point; 'D'YNN I'7NRY VINIAND

.NYIXN N71Y97 DAl ,0'Y'AXN NTAN7 ,N790Nn7 wnwn *



mtx=1 yw=2;

int *ip;
R (NIN0IN) |NOTH NN D'Y'AaxYN
l]_:l = -EE:"I.
X 1 W 2 Ip 100
100 2000 1000
¥ = *ip;
X 1 W 1 Ip 100
100 2000 1000
X =1p;
X 100 v o[ o2 ip | 100
100 2000 1000
*11‘.1 =3
X 3 W 2 ip 100

100 200 1000



fiddle(int x, int *y)

{
printf("Starting fiddle: x = %d, y = %d\n", x, *y);
x++;
*y)++;

f printf("Finishing fiddle: x = %d, y = %d\n", x, *y);
)

L TV DR ROR L NAEY y W TV DR R? 22w

D9V ¥O2XN y- N2 DIPNRA MW




main()

{

inti=0,]=0;

printf("Starting main : i = %d, ] = %d\n", i, j);

printf("Calling fiddle now\n");

fiddle(i, &j);
printf("Returned from fiddle\n");

printf("Finishing main : i = %d, | = %d\n", i, j);

~

& NPIWD NtV int-9 ¥°axXn 09Xy

_




Startingmain:i=0,j=0
Calling fiddle now

Starting fiddle: x =0,y =0
~inishing fiddle: x =1,y = 1
Returned from fiddle
Finishingmain :1=0, | = 1

W 7Y DaR L,Inwn KD 1 9% 7
JINW 10,3028 DTV oW ]




D'INYN Y NO97NNT7 N7 NNAIT

 swap(a, b) :TIAY' X7
« swap(&a, &b) :

void swap(int *px, int *py)
{
Int temp;
temp = *px;
*pX — *py;
“py = temp;



D17 AIVUN

V'axyn X7 |"TV XINLY'XN 1IN NINYN 0NY'TanYD
127 .01 DIYY?

.(crash-7 nn111) Nn¥1N NYAINY NX\AY XN
101 WIN'W7 NNAIT



float x=0, y=0, *flp, *fiq;
flp=&X;
flg=&y;

*flp = *flp + 10;
++lp;
("flp)++;

flg = flp;

++flp;

*1n2) TAX NINWN 7V NI7IYO
,(+ 1m2) 0"Mw7 1121 (++ IX
JANNYY ' nivxian



'7NY NINYNN 210 NIX 0'1''XN y'axn 704
NIND NX YT AWNNNY 7'av2 ,Y'axn Xin
DA™ DAY [IND'TN

772 XIN ,V'AXN 7W YN DX DY7'TanY)
.D'RNN 7712 N7Y2 DNXR NT'NA2

N1ITN DX ,NAIND7 00" 2 9'0IN ++Ip
Int-7 y'axna

N11TN DX ,NAIND7 0'0"a 4 q'om ++fp
float-7 y'axna



(D'11) DI>'O

JIND'T2 NTAIN 7TIAQ DI 72pn nanwn

D2 .NINWN 7Y NAIND |[ONNN Y'aX¥N NINwn
J1ND'T2 NAIND W' y'axn?

.0wn 197 * "y n'wyal y'axn NOTan

YNINN NMINYN 7¢ NAIMDA yv'iavn 72INnNX
. & N71v9 Natyva

1"¥7 (NNTAN MW 12'X OX) QO T'P9N * -7
NN DIN (X NNYY IN) 2 wnnwn? Ny
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